
Unit 2 Information Technology 
 Outcome 3 Test Solutions
SECTION 1 - Multiple Choice Questions

Instructions

Answer all questions in Section 1 by circling the most correct answer.
If you need to change an answer cross out the initial choice and circle your alternative answer.

Question 1

In a _____________ topology all devices are linked to a circle of cable.

a. Mesh

b. Bus

c. Ring
d. Tree

Question 2

Efficiency refers to:

a. Speed, cost and effort

b. Speed, accuracy and effort

c. Speed, cost and effectiveness

d. All of the above.

Question 3

A mobile phone account is produced with a:
a. Transaction processing system (TPS).

b. Management information systems (MIS).

c. Decision support systems (DSS).

d. Expert systems (ES).

Question 4

A network manager: 

a. Writes and maintains computer programs.

b. Manages the day to day operation of computers in an organisation.

c. Is responsible for developing and maintaining a network.

d.   Translates the needs of an end user to design an information system

Question 5

A protocol is:

a. A program which allows access to the internet.

b. A device which connects a number of PC’s to a network.

c. The way in which people behave when meeting a dignitary.

d. A set of rules and procedures for exchanging information between computers.

Question 6

Which term best describes the following definition: “The degree to which data is correct, or valid”.
a. Data security
b. Garbage in garbage out
c. Data integrity
d. Data and information
Question 7

What causes could lead to a system failure:

a. Aging hardware.

b. Natural disasters.

c. Electrical power problems.

d. All of the above.

Question 8

Which best describes an analog signal:

a. Electrical pulses.

b. A continuous wave.

c. Is made up of 0 and 1
d. A breakthrough form of wireless transmission media
Question 9

What is an example of an advantage of a network over a stand-alone computer:
a. Communicating
b. Sharing of resources
c. Sharing of data and information
d. All of the above.

Question 10

Which group of files could be saved onto a standard floppy disk?

a. PowerPoint file (900 KB), database file (450 KB), music file (660 KB).

b. PowerPoint file (550 KB), database file (350 KB), video file (1650 KB).

c. PowerPoint file (515 KB), spreadsheet file (315 KB), JPEG image file (1200 KB).

d. Database file (450 KB), spreadsheet file (300 KB), word-processed file (228KB).

Question 11

Traffic level sensors and computerised gates at train stations and sporting venues are examples of: 

a. Management systems.

b. Controlling systems.

c. Expert systems.

d. Decision support systems.

Question 12

Swiping EFTPOS cards and online registration forms are examples of:

a. Manual data acquisition.

b. Electronic data acquisition.

c. Manipulation.

d. Validation.

Question 13

A LAN is a: 

a. Local Access Network.

b. Local Area Network.

c. Local Application Network.

d. None of the above.

Question 14

Microwave transmission: 

a. Cooks your food slower than traditional stovetop cooking.

b. Relies on line of sight communication.

c. Can operate with objects between the transmitter and receiver

d.    None of the above
Question 15

A tree topology is a combination of which two topologies?

a. Ring and bus.

b. Ring and tree.

c. Ring and star.

d. Bus and star.

Question 16

A server:

a. Is a computer.

b. Is the interface between the computer and the cable.

c. Connects LANs together.

d. None of the above.

Question 17

An example of computer fraud is when:

a. A person uses a computer to send electronic mail.

b. A person or company buys new software and pays for the software by credit card.

c. A bank teller transfers money from one bank account to another with the permission of the customer.

d. A bank teller transfers money from one bank account to another without the permission of the customer.

Question 18

A software package written specifically for a task in an organisation is:

a. System software.

b. Network software.

c. Off the shelf software.

d. Custom built software.

Question 19

A systems analyst:
a. Writes and maintains computer programs.

b. Enters and validates data.

c. Designs, repairs and maintains the hardware of an information system. 

d. Designs information systems that meet end users’ needs.

Question 20

FTP:
a. Stands for file transfer procedure.
b. Allows a user to upload and download files to and from a web-server.

c. Both A and B are correct.

d. None of the above are correct.
TOTAL MARKS = 20

SECTION 2 - Short Answer Questions

Instructions

Answer all questions in Section 2 in the spaces provided. If you need to change or add to an answer, there is extra space available at the back of the book.

Question 1

Discuss three advantages of using a computer network in an organisation?

The main advantages of using a network are the abilities to:

· facilitate communications (email, chatting, video conferencing are all efficient ways of communication over a network)

·  share hardware (sharing printers and file servers

· share data and information ( all authorised users can share data and information stored on the network) and 
· share software (software can be shared through use of site licences).

(3 marks)

Question 2

What is the function of a modem?

A modem is used at the transmitting end to convert the digital signal of a computer into the analog wave needed for transmission along a standard phone line. At the receiving end the opposite occurs - the analog wave is converted into a digital signal.
 (2 marks)

Question 3

What is packet switching technology?
The term packet switching refers to the technique of breaking a message into individual packets, sending the packets along the best route available and then reassembling the data.

(2 marks)

Question 4

Discuss why fibre optic cable is considered more secure than Ethernet cable in a network.

Fibre optic cables:

· Carry significantly more signals than Ethernet (UTP).

· Have speedier data transmission.

· Are less susceptible to noise from other devices and hence more robust.

· Better security for signals during transmission due to their tolerance of noise.

Unshielded twisted-pair (UTP) cable (Ethernet based cable) is susceptible to noise (interference) and this can corrupt communication.
(2 marks)

Question 5

List 3 tips for effective password usage.
Tips include:

Do not use:

Your name in any form

The name of pets, family members, birthdays of family members – or any items of personal information that someone could find out.
Do not share your password with anyone

Do not write down your password

Do use:

At least 8 characters

Use a mixture of characters and numbers and upper and lower case

A password you can type easily without looking at the keyboard something that no one but you would know a line or two from a song, using the first letter of each word

Change your password frequently

Do not fall for email or telephones scams and share your password

Could also add "use a different password on each system you use, so that if one password is compromised, your other logins/security are still OK"

(3 marks)

Question 6

List 4 factors that would need to be taken into consideration when designing a network.
A range of factors that impact the design of a network are cost, security, access to required information, ability to fulfil required function, expansion potential and compatibility of components.

 (4 x ½ mark = 2 marks)

Question 7 - Draw a diagram of a bus network topology.
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(3 marks) 

Question 8

Explain why networks have a much higher security risk than standard computers.
Networks are at a much higher risk of security as information is being transferred to and from the outside. On a large network with no central administrator, every computer along the path of your data can see what you send and receive.
(2 marks)

Question 9

What are the differences between a Transaction Processing System and a Management Information System?

Transaction processing systems (TPSs) capture and process data from daily business activities. These systems quickly process large amounts of data generated by day-to-day transactions. A TPS enables the automation of many tedious tasks such as calculations. They are also more accurate, as less human error is involved.

Management information systems (MISs) generate accurate, current and organised information to assist managers and others in making decisions, solving problems, supervising tasks and monitoring progress. Data is commonly shared between the transaction processing system and the management information system. In this way, all management decisions can be based on real information about transactions. An MIS can create detailed, summary and aggregated information
(4 marks)

Question 10

Explain how microwave signals are transmitted.

Microwave signals are radio waves that provide a high speed signal transmission.

Signals are transmitted from one microwave station (a reflective dish that contains antenna and other equipment necessary for transmission) to another via line of sight – therefore towers are located on hill tops etc.

The main limitation of microwave transmission is that microwave antennas must be within the line of sight from each other and are mainly useful over wide areas such as lakes or deserts.
 (2 marks)
Question 11

Describe 2 main differences between coaxial cable and fibre optic cable.

Most computer networks don’t use coaxial cable anymore because other transmissions such as fibre optics are available which allow for faster data transmission, are less susceptible to noise, are smaller and lighter weight and have better security for signals during transmission.

 (2 marks)

Question 12

Identify a network topology and list one advantage and one disadvantage.

Bus topology

Advantages:

· They are cheap in material costs and easy to install.

· If a node fails, data can still be transmitted across the network and a node can be added to a bus without ceasing operation of the whole network.

Disadvantages:

· A break in the cable brings the whole network down.

Ring topology

Advantages:

· Good for optical fibre where transmission occurs in one direction only.

Disadvantages:

· More expensive to implement than bus topologies. 

· To add another node to the ring, the ring must be broken and hence network operation must cease.

Star topology

Advantages:

· Low set up costs.

· Easy routing of messages. 

Disadvantages:

· The central node requires different hardware to other nodes because of its tasks and importance.

The central hub can hold up transmissions if the network is managing large amounts of data.

(3 marks)

